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GENERAL INSTRUCTIONS- 

1-There are three subjects in the question paper consisting of Physics ( Q-no. 1 

to 30) , Chemistry (Q-no. 31 to 60) and Mathematics (Q-no. 61 to 90) 

Ikz”u i= es dqy rhu fo’k; gS ftles HkkSfrd foKku ( Q-no. 1 to 30) , jlk;u foKku (Q-no. 

31 to 60) vkSj xf.kr (Q-no. 61 to 90) ds iz”u lfEefyr gSA 

 

2-Each subject is divided into 2 sections. Section A consists of 20 multiple 

choice questions section B consists of 10 numerical value type questions. In 

section B, candidates have to attempt any five questions out of 10. 

izR;sd fo’k; nks [k.M esa foHkkftr gSA [k.M , es dqy 20 cgqfodYih; iz”u gS rFkk [k.M ch esa 10 

vadh; ewY; ds iz”u gSA [k.M ch ds 10 iz”uksa esa lss Nk=ks dks dksbZ 5 iz”u gy djuk gSA 

  

3-There will be only one correct choice in the given four choice in section A. 

For each question for section A 4 marks will be awarded for correct choice. 

One mark will be deducted for incorrect choice question and zero marks will be 

awarded for not attempted question.  

[k.M , ds iz”uks esa fn, x, fodYiksa esa dksbZ ,d fodYi lgh gS] ftlds fy, Nk=ks dks lgh mRrj 

ds fy, 4 vad iznku fd, tk,xsA xyr mRrj nsus ij 1 vad dkV fy;k tk,xk ,oa tks iz”u Nk=ks 

}kjk gy ugh fd;k tk,xk mlds fy, mUgs vad iznku fd;k tk,xkA 

4-For section B questions 4 marks will be awarded for correct answer and zero 

for unattempted and incorrect answer. 

[k.M ch ds iz”uksa ds lgh mRrj nsus ij 4 vad iznku fd, tk,xs ,oa iz”u gy u djus ij vFkok 

xyr mRrj nsus ij “kwU; vad fn;k tk,xkA 

 

5- All calculations / written work should be done in the rough sheet provided 

with question paper. 

 



Physics 

Section- A                                        ( Q-no. 1 to 30) 

 

(1) The percentage error in the measurement of mass and speed are 2% and 3% 
respectively. The error in kinetic energy obtained by measuring mass and speed will 
be 

(a) 12% 
(b)  10% 
(c)  8% 
(d) 5% 

द्रव्यमान और गति के माप में प्रतिशि तु्रति क्रमशः  2% और 3% है। द्रव्यमान एवं गति मापने से प्राप्त गतिज 

ऊजाा में तु्रति होगी 
(a) 12% 
(b)  10% 
(c)   8% 
(d)   5% 

 
(2) Light year is a unit of- 

(a) Length  
(b) Mass 
(c)  Time 
(d)  temperature  

प्रकाश वर्ा एक इकाई है- 
(e) लंबाई   
(f) द्रव्यमान 
(g)   समय 
(h)   िापमान   

 
(3)   If L=2.331cm and B= 2.1cm then L+B  equals- 

(a) 4.431cm 
(b)  4.43 cm 
(c)  4.4 cm  
(d)  4cm 

   यति L=2.331cm और B=2.1cm है िो L+B बराबर है- 
(e) 4.431 सेमी 

(f)   4.43 सेमी 

(g)   4.4 सेमी   

(h)   4 सेमी 
 

(4) The respective number of significant figures for the numbers 23.023 ,  0.0003 

and 2.1 × 10-3 are respectively - 
(a)4,4,2  
(b)5,1,2 



(c) 5,1,5 

(d) 5,5,2 

    संख्या 23.023 , 0.0003 और 2.1 × 10 -3  के तलए सार्ाक अंक क्रमशः  हैं - 
(a)4,4,2   
(b)5,1,2 
(c) 5,1,5 
(d) 5,5,2 

 

(5) An athlete Completes one round of circular track of radius R in 40 seconds. What will be 
the displacement at the end of 2 minutes 20 seconds – 

(a) 0 

(b) 2R  

(c)2πR  

(d)7πR 

 एक एर्लीि R तत्रज्या के वृत्ताकार िर ैक का एक चक्कर 40 सेकंड में पूरा करिा है। 2 तमनि 20 सेकंड के अंि 

में तवस्र्ापन क्या होगा - 

(a) 0 

(b) 2R  

(c)2πR   

(d)7πR 

 

(6) The Displacement time graph for two particles A & B are in straight lines at angles of 30° 
and 60° with the time axis.   The ratio of velocities VA: VB is – 

(a)1:2 

(b) 1:√3 

(c) √3:1 

(d) 1:3 

िो कणो ंए और बी के तलए तवस्र्ापन समय ग्राफ समय अक्ष के सार् 30° और 60° के कोण पर सीधी रेखाओ ंमें 

हैं।   वेग V  A  : V  B   का अनुपाि है – 

(a)1:2 

(b) 1:√3 

(c) √3:1 

(d) 1:3 

 



(7) A car moved from X to Y with the uniform speed u and returns with uniform speed v .The 
average speed for the trip is- 

(a) 2uv/(u+v)  

(b) (u+v)/2  

(c) (u-v)/2 

(d) u.v 

 एक कार X से Y िक एक समान गति u से चलिी है और एक समान गति v से वापस आिी है। यात्रा की औसि 

गति है- 

(a) 2uv/(u+v)  

(b) (u+v)/2  

(c) (u-v)/2 

(d) u.v 

 

 

(8) For a particle , displacement – time relation is t= √x+3. It’s displacement when it’s 
velocity is zero is – 

 (a)2m 

 (b) 4m  

(c) 0  

(d) none of these 

 एक कण के तलए, तवस्र्ापन-समय संबंध t= √x+3 है। इसका वेग शून्य होने पर इसका तवस्र्ापन है - 

  (a)2मी 

  (b) 4 मी   

   (c) 0   

    (d) इनमें से कोई नही ं

 

 

(9) The position x of a particle varies with time t as x = at2 – bt3. The time t when th 
acceleration is equal to zero is – 

(a)2a/3b 

 (b) a/b  

(c) a/3b 



 (d) zero 

 तकसी कण की स्स्र्ति x समय t के सार् बिलिी रहिी है क्योतंक x = at 2  – bt 3। वह समय t जब वां त्वरण 

शून्य के बराबर है - 

(a)2a/3b 

 (b) a/b  

(c) a/3b 

 (d) zero 

 

(10)The displacement of a body is given to be proportional to the cube of time elapsed. The 
magnitude of the acceleration of the body is- 

 (a) Increasing with time  

(b) decreasing with time  

(c)constant but not zero 

(d) zero 

 तकसी तपंड का तवस्र्ापन बीिे हुए समय के घन के समानुपािी माना जािा है। तपंड के त्वरण का पररमाण है-  

(a) समय के सार् बढ़ रहा है   

(b) समय के सार् घि रहा है   

(c) स्स्र्र लेतकन शून्य नही ं

(d) शून्य 

   

 (11) An aeroplane is flying with uniform speed of 100 km/h along the circumference of the 
circle. The change in velocity in half the revolution will be (in km/h)- 

(a) 100 

 (b) 200  

(c)300 

(d) 150 

   एक हवाई जहाज वृत्त की पररतध के चारो ंओर 100 तकमी/घंिा की एकसमान गति से उड़ रहा है। आधी क्रांति 

में वेग में पररविान (तकमी/घंिा में) होगा- 

(a) 100 

(b) 200   

(c)300 

(d) 150 



 

(12) A body falling from rest has a velocity v after it falls through a height h . The distance it 
has to fall further for its velocity to become double is- 

(a) 4h 

(b)6h 

(c) 8h  

(d)10h 

 आराम से तगरने वाले तकसी तपंड का ऊंचाई h से तगरने के बाि वेग v होिा है। इसके वेग को िोगुना करने के 

तलए इसे और तकिनी िूरी िय करनी होगी- 

(a) 4 घंिे 

(b)6 घंिे 

(c) 8 घंिे   

(d)10 घंिे 

 

(13) A particle is thrown vertically upward. Its velocity at half of the height is 10 m/s, then 
maximum height attained by it is (g= 10m/s2) 

(a) 8m  

(b)20 m 

(c) 10 m 

(d) 16 m 

 एक कण को उर्ध्ााधर ऊपर की ओर फें का जािा है। आधी ऊंचाई पर इसका वेग 10 मीिर/सेकंड है, िो 

इसके द्वारा प्राप्त अतधकिम ऊंचाई है (g= 10m/s 2) 

(a) 8मी   

(b)20 मी 

(c) 10 मी 

(d) 16 मी 

 

(14)If a freely falling body In the last second travels a distance equal to the distance traveled 
in the first three seconds. The time of its travel is – 

(a)3 second  

(b 4 second  

(c)5 second  



(d) 6 second 

यति कोई स्विंत्र रूप से तगरिा हुआ तपंड अंतिम सेकंड में पहले िीन सेकंड में िय की गई िूरी के बराबर िूरी 

िय करिा है। इसकी यात्रा का समय है - 

(a)3 सेकंड   

(b) 4 सेकंड   

(c)5 सेकंड   

(d) 6 सेकंड 

 

(15) A car , starting from rest , accelerates at the rate f through a distance S then continues 
at constant speed for time t and then decelerates at the rate f/2 to come to rest. If the total 
distance traveled is 15S, then – 

(a) S=ft 

 (b) S= ft2/6  

(c) S=ft2/72  

(d)S=ft2/4 

 एक कार, आराम से शुरू होकर, िूरी S के माध्यम से f की िर से गति करिी है, तफर समय t के तलए स्स्र्र गति 

से चलिी रहिी है और तफर आराम करने के तलए f/2 की िर से धीमी हो जािी है। यति िय की गई कुल िूरी 

15S है, िो - 

(a)  S=ft 

 (b) S= ft2/6  

(c) S=ft2/72  

(d)S=ft2/4 

 

(16)A body is thrown with a velocity of 9.8m per second making an angle of 30° with the 
horizontal. It will hit the ground after a time- 

(a) 3 second 

 (b) 2 second  

(c)1.5 second  

(d) 1 second  

एक तपंड कै्षतिज से 30° का कोण बनािे हुए 9.8 मीिर प्रति सेकंड के वेग से फें का जािा है। एक समय के बाि 

यह जमीन से िकराएगा- 

(a) 3 सेकंड 

(b) 2 सेकंड   



(c)1.5 सेकंड   

(d) 1 सेकंड   

 

(17) A ball is thrown from a point with a speed v at an angle of projection θ   from the same 
point and at the same instant a person starts running with a constant speed v/2 to catch the 
ball . Will the person be able to catch the ball ? If yes, what should be the angle of 
projection? 

(a) Yes, 60°  

(b)Yes,30° 

(c) No  

 (d)Yes,45° 

 एक गेंि को एक तबंिु से प्रके्षपण कोण   θ     पर उसी तबंिु से फें का जािा है और उसी क्षण एक व्यस्ि गेंि को 

पकड़ने के तलए तनरंिर गति v/2 से िौड़ना शुरू कर िेिा है। . क्या वह व्यस्ि गेंि को पकड़ने में सक्षम होगा? 

यति हां, िो प्रके्षपण का कोण क्या होना चातहए? 

(a) हााँ, 60°   

(b)हााँ, 30° 

(c) नही ं  

 (d) हााँ, 45° 

 

(18) The maximum horizontal range of a projectile is 400 m .The maximum height attained 
by it will be- 

(a) 100m 

 (b) 200m 

 (c) 400m 

 (d) 800m 

 एक प्रके्षप्य की अतधकिम कै्षतिज सीमा 400 मीिर है। इसके द्वारा प्राप्त अतधकिम ऊंचाई होगी- 

 (a) 100 मी 

  (b) 200 मी 

  (c) 400 मी 

  (d) 800 मी 

 

(19) A boat is sent across a river with a velocity of 8km/h.If the resultant velocity of boat is 
10 km/h. Then the velocity of river is- 



(a)12.8km/h  

(b) 6km/h  

(c)8km/h  

(d) 10km/h 

 एक नाव को 8 तकमी/घंिा के वेग से निी के पार भेजा जािा है। यति नाव का पररणामी वेग 10 तकमी/घंिा है। 

िब निी का वेग है- 

(a)12.8 तकमी/घंिा   

(b) 6 तकमी/घंिा   

(c)8 तकमी/घंिा   

(d) 10 तकमी/घंिा 

 

 

(20)A particle is projected making an angle of 45° with the horizontal having kinetic energy K 
. The kinetic energy at the highest point will be 

(a) K/√2 

(b) K/2 

(c) 2K 

(d) K 

एक कण को गतिज ऊजाा K वाले कै्षतिज के सार् 45° का कोण बनािे हुए प्रके्षतपि तकया जािा है। उच्चिम तबन्िु 

पर गतिज ऊजाा होगी 

 

(a) K/√2 

(b) K/2 

(c) 2K 

(d) K 

 

Section-B  
 
(21) Two cars are moving in the same direction with the same speed of 30 km/h . They are 
separated by a distance of 5 km. A truck moving in the opposite direction meets these two 
cars at an interval of 4 minutes. Find the speed of the truck. 
 िो कारें  30 तकमी/घंिा की समान गति से एक ही तिशा में चल रही हैं। वे 5 तकमी की िूरी से अलग हो गए हैं। 

तवपरीि तिशा में चल रहा एक िर क 4 तमनि के अंिराल पर इन िोनो ंकारो ंसे तमलिा है। िर क की गति ज्ञाि 

कीतजए। 



 
(22) A body is moving in a straight line along x- axis . Its distance x in meters from the origin 
is given by ;x = 8t – 3t2 .The time t is in seconds. Find the average speed of the body in time 
interval t = 0 to t= 1 s. 

 एक तपंड x-अक्ष के अनुतिश एक सीधी रेखा में घूम रहा है। मूल तबंिु से इसकी िूरी x मीिर में ;x = 8t – 3t 2  

द्वारा िी गई है। समय t सेकंड में है। समय अंिराल t = 0 से t= 1 s में तपंड की औसि गति ज्ञाि कीतजए। 

 

(23) If velocity (m/s) varies with time as v=4t . Find the distance traveled by the body in the 
interval of 2 to 4 seconds. 

 यति वेग (m/s) समय के सार् v=4t के रूप में बिलिा रहिा है। 2 से 4 सेकंड के अंिराल में वसु्त द्वारा िय की 

गई िूरी ज्ञाि कीतजए। 

 

(24)A tennis ball is dropped on to the floor from a height of 10m. It rebounds to a height of 
2.5m. If the ball is in contact with the floor for 0.01 second. What is the average acceleration 
during the contact? 

(g= 10 m/s2) 

एक िेतनस बॉल को 10 मीिर की ऊंचाई से फशा पर तगराया जािा है। यह 2.5 मीिर की ऊंचाई िक उछलिा 

है। यति गेंि 0.01 सेकंड के तलए फशा के संपका  में है। संपका  के िौरान औसि त्वरण क्या है? 

(जी=10 मी/से 2 ) 

 

 (25) A body has a velocity of 5 m/s and a uniform acceleration of 4 m/s2 .Find the  

 

 

distance travelled in the 11th second of its motion. 

   एक तपंड का वेग 5 मीिर/सेकंड और एकसमान त्वरण 4 मीिर/सेकंड  2   है। इसकी गति के 11  वें   सेकंड में 

िय की गई िूरी ज्ञाि कीतजए। 

 

(26)What will be the distance moved by a freely falling body from rest in the 5th  second of 
its journey. 

अपनी यात्रा के 5  वें    सेकंड में आराम से तगरने वाले एक तपंड द्वारा िय की गई िूरी क्या होगी। 

 

(27)A car travelling at 36 km/h takes a U-turn in 5 seconds. What is the acceleration of the 
car? 

36 तकमी/घंिा की गति से चलने वाली एक कार 5 सेकंड में यू-िना लेिी है। कार का त्वरण क्या है? 

 



(28)A boy throws a ball horizontally with a velocity of 8m/s from the top of a building. The 
ball falls to the ground 12 metre away from the building. What is the height of the building? 

 एक लड़का एक इमारि के शीर्ा से 8 मीिर/सेकें ड के वेग से कै्षतिज रूप से एक गेंि फें किा है। गेंि इमारि से 

12 मीिर िूर जमीन पर तगरिी है। इमारि की ऊंचाई तकिनी है? 

 

(29)A gun throws a shell with a muzzle speed of 98 meter per second. When the elevation is 
45° ,the range is found to be 900 m. How much is the range decreased by air resistance? 

एक बंिूक 98 मीिर प्रति सेकंड की रू्र्न गति से एक गोला फें किी है। जब ऊंचाई 45° है, िो सीमा 900 मीिर 

पाई जािी है। वायु प्रतिरोध से परास तकिना कम हो जािा है? 

 

(30)A body with uniform acceleration covers 76 metre in the 5th second and 116 meter in 
the 10th second .Find the distance traveled in the 15th second. 

 एक तपंड एकसमान त्वरण से 5  वें   सेकंड में 76 मीिर और 10  वें   सेकंड में 116 मीिर की िूरी िय करिा है। 

15  वें   सेकंड में िय की गई िूरी ज्ञाि कीतजए।  

 

  Chemistry-(Q-no. 31 to 60) 

 

(31) The incorrect postulates of the Dalton’s atomic theory are:- 

 (A) Atoms of different elements differ in mass.  

(B) Matter Consist of divisible atoms. 

 (C) Compounds are formed when atoms of different element combine in a fixed ratio.  

(D) All the atoms of given elements have different properties including mass.  

(E) Chemical reactions involves organization of atoms. 

 Choose the correct answer from the options given below. 

 (a) (A),(B),(C) only 

 (b) (C),(D),(E) only 

 (c) (B),(D) only 

 (d) (B),(D),(E) only 

 डाल्टन के परमाणु तसद्ांि के गलि अतभधारणाएाँ  हैं:-  

(a) तवतभन्न ित्वो ंके परमाणुओ ंका द्रव्यमान अलग-अलग होिा है।  

 (b) पिार्ा तवभाज्य परमाणुओ ंसे तमलकर बना है। 

 (c) जब तवतभन्न ित्वो ंके परमाणु एक तनतिि अनुपाि में तमलिे हैं िो यौतगक बनिे हैं।  



 (d) तिए गए ित्वो ंके सभी परमाणुओ ंमें अलग-अलग गुण होिे हैं 

 (e) रासायतनक प्रतितक्रयाओ ंमें परमाणुओ ंका संगठन शातमल होिा है।  

 नीचे तिए गए तवकल्ो ंमें से सही उत्तर चुनें।  

(a) (A),(B),(C) only 

 (b) (C),(D),(E) only 

 (c) (B),(D) only 

 (d) (B),(D),(E) only 

 

( 32 ) 0.27 g of a long chain fatty acid was dissolved in 100cm3 of hexane. 10 ml of this 
solution was added drop wise to the surface of water in a round watch glass. Hexane 
evaporates and a Mono layer is farmed. The distance from edge to center of watch glass is 
10cm. What is the height of the Monolayer? (Density of fatty acid=0.9gcm-3 ; =3.0) 

 (a) 10-6m 

 (b) 10-4m 

 (c) 10-8m 

 (d) 10-2 m 

 0.27 ग्राम लंबी शंृ्खला वाला फैिी एतसड 100 सेमी हेके्सन में घोला गया र्ा। 10 तम.ली इस घोल को एक गोल 

वॉच ग्लास में पानी की सिह पर बंूि-बंूि करके डाला गया। हेके्सन वास्िि हो जािा है और एक मोनो परि 

िैयार हो जािी है। वॉच ग्लास के तकनारे से कें द्र िक की िूरी 10 सेमी है। की ऊंचाई तकिनी है 

  (a) 10-6m 

 (b) 10-4m 

 (c) 10-8m 

 (d) 10-2 m 

 

(33) A Solution is prepared by adding 2g of “X” to 1 mole of water Mass percent of “X” in the 
solution is – 

 (a) 20% 

 (b) 10% 

 (c) 5% 

 (d) 2% 



  1 मोल पानी में 2 ग्राम "X" तमलाकर एक घोल िैयार तकया जािा है, घोल में "x" का द्रव्यमान प्रतिशि है- 

(a) 20% 

 (b) 10% 

 (c) 5% 

 (d) 2% 

 

 (34) The Average Molar Mass of Chlorine is 35.5 g mole-1 . The ratio of Cl35 and Cl37 in 
naturally occurring Cholorine is close to  

(a) 4:1 

 (b) 3:1 

 (c) 2:1 

 (d) 1:1  

 क्लोरीन का औसि मोलर द्रव्यमान 35.5g मोल है। Cl 35 और Cl 37 का अनुपाि  प्राकृतिक रूप से पाए जाने 

वाले में क्लोरीन के करीब होिा है  

(a) 4:1 

 (b) 3:1 

 (c) 2:1 

 (d) 1:1  

 

(35) The number of Molecules and Moles in 2.8375 litre of O2 at STP are respectively 

 (a) 7.527x1023 and 0.125 mol 

 (b) 1.505x1023 and 0.250 mol 

 (c) 7.527x1022 and 0.250 mol 

 (d) 7.527x1022 and 0.125 mol 

 एसिीपी पर 2.8375 लीिर O में अणुओ ंऔर मोल्स की संख्या है  

(a) 7.527x1023 and 0.125 mol 

 (b) 1.505x1023 and 0.250 mol 



 (c) 7.527x1022 and 0.250 mol 

 (d) 7.527x1022 and 0.125 mol 

 

 (36).6 A certain orbital has no angular nodes and two radial nodes. The orbital is – 

 (a) 2s 

 (b) 3s 

 (c) 3p  

(d) 2p  

 एक तनतिि कक्षक में कोई कोणीय नोड नही ंहै और िो रेतडयल नोड हैं। कक्षीय है........... 

  (a) 2s 

 (b) 3s 

 (c) 3p  

(d) 2p 

(37).7 The Number of subshell associated with n= 4 and m= -2 quantum number is…………  

(a) 8 

 (b) 2 

 (c) 16 

 (d) 4 

  n= 4 और m= -2 क्ांिम संख्या से जुडे़ उपकोश की संख्या  

(a) 8 
 (b) 2 
 (c) 16 
 (d) 4 

 

 (38) Which of the following sets of quantum number is not allowed? 

 (a) n=3, l=2, m=0, s=+1/2 

 (b) n=3, l=2, m=-2, s=+1/2 

 (c) n=3, l=3, m=-3, s=-1/2  



(d) n=3, l=0, m=0, s=-1/2 

 क्ांिम संख्या के तनम्नतलस्खि में से तकस सेि की अनुमति नही ंहै?  

(a) n=3, l=2, m=0, s=+1/2 

 (b) n=3, l=2, m=-2, s=+1/2 

 (c) n=3, l=3, m=-3, s=-1/2  

(d) n=3, l=0, m=0, s=-1/2 

 

 (39) The number of radial and angular nodes in 4d-orbital are respectively. 

 (a) 1 and 2  

(b) 3 and 2  

(c) 1 and 0 

 (d) 2 and 1 

 4d-ऑतबािल में रेतडयल और कोणीय नोड्स की संख्या क्रमशः  है। 

(a) 1 and 2  

(b) 3 and 2  

(c) 1 and 0 

 (d) 2 and 1 

 

 (40) 10 5 moles of AB2 weigh 125x10-3 kg and 10 moles of A2B2 weigh 300x10-3 kg. The 
molar mass of A (MA) and molar mass of B (MB) in kg mol-1 are:  

(a) MA=10X10-3 and MB=5x10-3 

 (b) MA=50X10-3 and MB=25x10-3 

 (c) MA=25X10-3 and MB=50x10-3 

 (d) MA=5X10-3 and MB=10x10-3 

 AB2 के 5 मोल, वजन 125x10 - 3 तकलोग्राम और A2B2 के 10 मोल) का वजन 300x10 – 3 तकलोग्राम है। 

ijek.kq A का मोलर द्रव्यमान (MA)  और B  का मोलर द्रव्यमान (MB) kg mol – 1 में हैं: 

(a) MA=10X10-3 and MB=5x10-3 



 (b) MA=50X10-3 and MB=25x10-3 

 (c) MA=25X10-3 and MB=50x10-3 

 (d) MA=5X10-3 and MB=10x10-3 

( 41) 11 A sample of CaCO3 and MgCO3 weighed 2.21 g is ignited to constant weight of 
1.152 g. The composition of mixture is (Given molar mass of CaCO3=100 gmol-1 ) 
(MgCO3=84 gmol-1 ) 

 (a) 1.187 g CaCO3+1.187g MgCO3 

 (b) 1.023 g CaCO3+1.187g MgCO3 

 (c) 1.187 g CaCO3+1.023g MgCO3 

 (d) 1.023 g CaCO3+1.023g MgCO3 

 CaCO3 और MgCO3 का एक नमूना तजसका वजन 2.21 ग्राम है, उसे 1.152 ग्राम के स्स्र्र वजन िक 

प्रज्वतलि तकया जािा है। तमश्ण की संरचना है (CaCO का िाढ़ द्रव्यमान तिया गया है,=100 g mol-1) 
(MgCO,=84 gmol-1) 

(a) 1.187 g CaCO3+1.187g MgCO3 

 (b) 1.023 g CaCO3+1.187g MgCO3 

 (c) 1.187 g CaCO3+1.023g MgCO3 

 (d) 1.023 g CaCO3+1.023g MgCO3 

( 42).12 Compound A contains 8.7% Hydrogen, 74% Carbon, and 17.3%Nitrogen. The 
molecular formula of the compound is- (Given- atomic masses of C,H and N are 12,1 and 14 
amu despectivly). The molar mass of compound A is 162 g mol-1 

 (a)C4H6N2  

(b)C3H3N 

 (c)C5H7N 

 (d)C10H14N2  

 यौतगक A में 8.7% हाइडर ोजन, 74% काबान और 17.3% नाइिर ोजन है। यौतगक का आणतवक सूत्र है- (तिया 

गया है- C,H का परमाणु द्रव्यमान और N क्रमशः  12,1 और 14 amu हैं)। यौतगक A का  v.kqHkkj  162 g 

mol-1 है - 

(a)C4H6N2  

(b)C3H3N 

 (c)C5H7N 



 (d)C10H14N2 

(43) Complete combustion of 1.80 g of an Oxygen containing Compound (CxHyOz) gave 2.64 
g of CO2 and 1.08 g of H2O the percentage of Oxygen in the organic compound is-  

(a) 50.33 

 (b) 53.33 

 (c) 63.53 

 (d) 51.63  

 1.80 xzke vkDlhtu ;qDr ;kSfxd CxHyOz dk iw.kZngu djus ij 2.64 xzke CO2 
1.08 xzke H2O izkIr gqvk] ;kSfxd esa vkDlhtu dh izfr”kRrk gksxh& 

(a) 50.33 

 (b) 53.33 

 (c) 63.53 

 (d) 51.63  

 

(44) A sugar solution is obtained after mixing 100g of its 20% solution and 250g of it’s 35% 
solution (Both By mass), the mass percentage of the resulting sugar solution is – 

 (a) 29% 

 (b) 31% 

 (c) 33% 

 (d) 35%  

 20% Hkkjkuqlkj “kdZjk foy;u ds 100 xzke dks 35% Hkkjkuqlkj “kdZjk foy;u ds 250 

xzke es fefJr djus ij izkIr ifj.kkeh foy;u dh Hkkj izfr”kRrk gksxh& 

(a) 29% 

 (b) 31% 

 (c) 33% 

 (d) 35%  

 



(45) The hardness of a water sample (in terms of equivalents of CaCO3) containing 10-3M 
CaSO4. (Molar mass of CaSO4 =136g mol-1 ) 

 (a) 100 ppm 
 (b) 10 ppm 
 (c) 50 ppm  
(d) 90 ppm 

 ,d dBksj ty ds uewus dh lkUnzrk CaCO3   ds rqY;kadks ds lUnHkZ es½] ftles 

CaSO4  dh eksyjrk 10-3m gS] gksxh&  

¼fn;k gS& CaCO3 dk v.kqHkkj 136 xzke eksy &1 ½ 

(a) 100 ppm 
 (b) 10 ppm 
 (c) 50 ppm  
(d) 90 ppm 
 

 (46) 1 gram of a Carbonate (M2CO3) on treatment with excess HCl produces 0.01186 mole 
of C02 the molar mass of M2CO3 in g mol-1 is 

 (a) 1186 

 (b) 84.3 

 (c) 118.6 

 (d) 11.86 

 ,d dkcksZusV (M2CO3) ds 1xzke esa vf/kD; ek=k es HCl feykus ij 0.01186 xzke CO2 
mRiUu gqbZA dkcksZusV M2CO3 dk v.kqHkkj xzke es eksy & 1 gS& 

(a) 1186 

 (b) 84.3 

 (c) 118.6 

 (d) 11.86 

 (47) The ratio of masses of Oxygen and Nitrogen in a particular gaseous mixture is 1:4, the 
ratio of number of their molecule is 

 (a) 1:4  

(b) 7:32 

 (c) 1:8 

 (d) 3:16  



 ;fn fdlh xSlh; feJ.k esa vkDlhtu vkSj ukbVªkstu 1%4 Hkkjkuqikr esa fLFkr gksa] rks 

mudss v.kqvks es lgh vuqqikr gS&  

a) 1:4  

(b) 7:32 

 (c) 1:8 

 (d) 3:16  

(48) The molarity of a solution obtained by mixing 750 ml of 0.5 M HCl with 250 ml of 2M 
HCl wil be- 

 (a) 0.875 M  

(b) 1.00M  

(c) 1.75 M 

 (d)0.0975M  

 750 feyh0 yh0 0.5 M HCl dks 250 feyh0 yh0 250 ml ds lkFk fefJr djus ij izkIr 

ifj.kkeh foy;u dh eksyjrk gksxh& 

(a) 0.875 M  

(b) 1.00M  

(c) 1.75 M 

 (d)0.0975M  

(49) Molality(m) of 3M aqueous solution of NaCl is (Given : density of solution=1.25gmol-1, 
Molar mass in gmol-1 : Na=23, Cl=35.5) 

 (a) 2.90 m 

 (b) 2.79m 

 (c) 1.90 m 

 (d) 3.85m 

 3M NaCl NaCl dss tyh; foy;u dh eksyYrk  gksxh&¼fn;k gS& ¼foy;u dk ?kuRo= 

1.25xzke eksy &1 ] ijek.kq Hkkj Na=23 xzke eksy &1 Cl=35.5½ gS  

(a) 2.90 m 

 (b) 2.79m 

 (c) 1.90 m 

 (d) 3.85m 



 

( 50) Compare the energies of following sets of quantum number for multieletion system. 
(A) n=4, l=1 

 (B) n=4, l=2 

 (C) n=3,l=1 

 (d) n=3,l=2  

(E) n=4,l=0 

 fdlh cgqbysDVªku ijek.kq ds fofHkUu Dok.Ve la[;kvks ds lsV dh mtkZ dk rqyuk 

djsa& 

(A) n=4, l=1 

 (B) n=4, l=2 

 (C) n=3,l=1 

 (d) n=3,l=2  

(E) n=4,l=0 

SECTION-B 

 (51) Number of moles of Methane requided to produce 22g CO2(g) after combustion is 
x.10-2 moles, The value of x is……………………%  

 ngu ds ckn 22 xzke CO2(g) mRiUu djus ds fy, vko”;d ehFksu ds eksyksa dh 

la[;k ×.10-2 eksy gSs] dk eku gSs& 

(52) 0.05 cm thick coating of Silver is deposited on a place of 0.05 m2 area. The number of 
Silver atoms deposited on plate are ………….1023 . (Atomic mass of Silver=108, d=7.9 g cm-3 
). 

 0.05 oxZ ehVj {ks=Qy okys LFkku ij pkanh dh 0.05 lseh eksVh ijr tek gksrh gS 

IysV ij tek pkanh ds ijek.kqvksa dh la[;k 1023 ¼pkanh dk ijek.kq nzO;eku 108 Mh 

7.9 xzke lseh &3½ 

 (53) 1 mole of PbS is oxidized by “X” moles of O3 to get “Y” moles of O2, X+Y=……………  

 Pbs ds 1 eksy dks 02 “Y” eksy izkIr djus ds fy, 03 ds  “X”eksy }kjk vkDWlhd`r 

fd;k tkrk  gSs X+Y= 

 



(54) On complete combustion 0.30 g of an organic compound gave 0.20 g of Carbon dioxide 
and 0.10g of water, the percentage of carbon in the given organic compound is…………….. 

Ikw.kZ ngu ij 0.30 xzke dkcZfud ;kSfxd us 0.20 dkcZu MkbvkWDlkbM vkSj 0.10 
xzke ikuh fn;k ] tks fn, x, dkcZfud ;kSfxd esa dkcZu dk izfr”kr gS  

 

 (55) A protein A contains 0.30% of glycine (Molecular weight 75).The minimum Molar mass 
of the protein A is………….x 103 g mol-1 

 ,d izksVhu A  esa 0.30% Xykblhu ¼vk.kfod Hkkj 75 ½ gksrk gSsaA izksVhu A dk 

U;wure eksyj nzO;eku…….×10 xzke eksy1 gS  

( 56) The maximum number of orbitals which can be identified with n=4, and m=0 is ………….  

 vkWfcZVYl dh vf/kdre la[;k ftls n=4 rFkk m=0  ds lkFk igpkuk tk ldrk gSs A 

(57) The Azimuthal quantum number for the valence electrons of Ga+ ion is……….. (Atomic 
number of Ga=31)  

 xs”ku ds oSysal bysDVªkWuksa ds fy, vtheqFky DokaVe la[;k gSs¼ Ga dk ijek.kq Øekad 

Ga=31½ 

(58) The wavelength of an electron of kinetic energy 4.50x10-29 J is………..x10- 5m.  

xfrt  mtkZ 4.50x10-29  ds ,d bysDVªkWu dh rjaxnS?;………..x10- 5m.  

(59) A ball weighing 10g is moving with a velocity of 90ms-1 . If the uncertainty in its velocity 
is 5% the uncertainty in it’s position is…………x10-33m (Round off to nearest integer) given, 
h=6.63x10-34J-S  

 10 xzke otu dh ,d xsan 90ms-1  ehVj fizfr lsd.M ds osx ls ?kwe jgh gS ;fn 

blds osx esa vfuf”pr 5 gS Rkks bldh fLFkfr esa vfuf”pr gSs is…………x10-33m ( fudVre 

iw.kkZd rd iw.kkZfdr ½ h=6.63x10-34J-S 

(60) The energy of one mole of Photons of radiation of frequency 2x1012Hz in J mol-1 
is……….(Nearest integer) Given, h=6.626x10-34JS, NA=6.022x1023 Mol-1 

¼60½%& J mol-1  esa 2x1012Hz  vko`fRr ds fofdj.k ds QksVkWu ds ,d eksy dh ÅtkZ   

¼fudVre iw.kkZd½ gS h=6.626x10-34JS, NA=6.022x1023 Mol-1 

 

MATHS - Q 61 -90 

(61) The least positive integer n such that (2i)n/(l-i)n-2 , i=√-1 is a positive integer is…….. 



(62) Let Գ,β be the roots of 𝑥2+√2𝑥 − 8 = 0, 𝑖𝑓 𝑈𝑛 =Գ
𝑛

+ 𝛽𝑛, then 
U10+√12U9 is equal to………………….                                                                   
2U8                         
   
(63)The range of the function f[×] = √3 −×+√2+× is: 

(a)[√5,√10] 

(b)[2√2,√11] 

(c)[√5,√13] 

(d)[√2,√7]                                                           

(64) Let A = (
 1 0 0
0 1 1
1 0 0

) ,𝑇𝐻𝐸𝑁 𝐴2025 − 𝐴2020 is equal to:  

(a)𝐴6 − 𝐴 

(b)  𝐴5 

(c)𝐴5 − 𝐴 

(d)  𝐴6 

(65)Let z be a complex number such that z-i/z+2i=1 and |z|=5/2 , then the value of | z+3i| is 

(a)√10 

(b)7/2 

(c)15/4 

(d)2√3 

(66)If f(x)=22𝑥/22𝑥+2 , x £R , then f(1/2023)+f(2/2023)+…….+f(2022/2023) is equal to: 

(a)2011 

(b)1010 

(c)2010 

(d)1011 

(67) Let A=(   𝑥         1  

1            0
) , x £ R   and 𝐴4= [ij ]. If a11=109 then a22 is equal to………… 

(68)Let range of the function f(x)=
𝑥

1+|𝑥|
 𝑥£𝑅, 𝑖𝑠 

(a)   R 

(b) (-1,1) 

(c) R-{0} 



(d) [-1,1] 

(69) Let A=  (
2  𝑏  1

𝑏  𝑏2 + 1  𝑏
1   𝑏   2  

) while b>0,then the minimum value of det(A)     is:- 

                                                 b 
 

(a)2√3 

(b)-2√3 

(c)-√3 

(d)√3 

(70) The sum of all possible values of Ꝋ £ [-−𝜋, 2𝜋] for which 
1+𝑖𝑐𝑜𝑠Ꝋ

1−2𝑖𝑐𝑜𝑠Ꝋ
  is purely imaginery,is 

equal to: 

(a)2𝜋 

(b) 3𝜋 

(c) 5 𝜋 

(d)4 𝜋 

(71)Let A= (
  1    2  
−1    4

) If  A−1= ԳI+𝛽𝐴, Գ , 𝛽£𝑅, and I is a 2x2 identity matrix, then 4( Գ -β)  

(a)5 

(b)8/3 

(c) 2 

(d)4 

(72)Let the sum of the maximum and minimum values of the function f(x)=2𝑥2-
3x+8/2𝑥2+3x+8 be m/n , where ged (m,n)=1 then m+n is equal to 

(a)182 

(b)217 

(c)195 

(d)201 

(73) If A= 
(
2        2
9       4 ) and I== 

(
1        0   
0           1) , then 10−1A is equal to: 

(a)A-4I 

(b)6I-A 

(C)A-6I 



(d)4I-A 

(74) The number of real solutions of the  equations 𝑥2 − |𝑥|−12 = 0 is:- 

(a)2 

(b)3 

(c)1 

(d)4 

(75) If 𝐴 =  (
 𝑐𝑜𝑠Ꝋ    𝑖 𝑠𝑖𝑛Ꝋ 
𝑖 𝑠𝑖𝑛Ꝋ   𝑐𝑜𝑠Ꝋ

) , (Ꝋ =
𝜋

24
)     𝑎𝑛𝑑 𝐴5=(

𝑎      𝑏
𝑐      𝑑

) , 𝑖 =√-1 , then which one of 

the following is not true? 

(a) 0 ≤   𝑎2 + 𝑏2 ≤ 1 

(b) 𝑎2-𝑑2=0 

(c) 𝑎2 − 𝑐2=1 

(d) 𝑎2 − 𝑏2=1/2 

(76) The value of(−1 +  𝑖√3
1 − 𝑖

)
30

is: 

(a)−215 
(b) 215i 
(c) −215𝑖 
(d) 65 
 

(77) If A=(
𝑎       𝑏
𝑏     𝑎

) and  𝐴2=(
Գ     𝛽 
𝛽    Գ 

) then  

(a)  Գ = 2𝑎𝑏 , 𝛽 = 𝑎2 + 𝑏2 

(b)  Գ = 𝑎2 + 𝑏2 , βab 

(c) Գ = 𝑎2 + 𝑏2, β=2ab 

(d)  Գ = 𝑎2 + 𝑏2,  β =𝑎2 − 𝑏2 

(78) The equation |z-i|=|z-1|, i=√-1 , represents: 

(a) a circle of radius ½ 

(b) the line through the origin with slope 1 

(c) a circle of radius 1 

(d) the line through the origin with slope -1 

(79) Let S={1,2,3,……,100} The number of non-empty subsets of A of S , such that the 
product of elements in A is even is: 

(a)2100 − 1 



(b)250(250-1) 

(c)250 − 1 

(d)250 + 1 

(80) If a>0 and z= (1 + 𝑖)2/(𝑎 − 𝑖), has magnitude √2/5, then ¯z is equal to: 

(a) -1/5 – 3/5 i 

(b) – 3/5 -1/5 i 

(c) 1/5 -3/5 i 

(d) -1/5 + 3/5 i 

(81) Let A= (
2     − 1
1       1   

) If the sum of the diagonal elements of 𝐴13 is 3𝑛, then n is equal 

to…… 

(82) Let Գ and β be the roots of 𝑥2-6x-2=0 . If (𝑎𝑛)=Գ
𝑛 − 𝛽𝑛 for n > 1 , then the value of 

a10-2a8/3a9 𝑖𝑠 … .. is- 

(a)2 
(b)4 
(c)3 
(d)1 
 
(83) The domain of the function 

 f(x)=𝑠𝑖𝑛−1( 𝑥2 − 3) will be: 

(a)[-2 , -√2] U [√2 ,2] 

(b)[-ꝏ,-2) U (√2 , ꝏ) 

(C)[-2,2] U [-√2 , ꝏ] 

(d) (-2 , √2) U (√2,2) 

(84)Let A={1,2,3,…….20} Let R1 and R2 be two relation on A such that R1={(a,b):𝑏2 is 

divisible by ‘a’ is an integral multiple of ‘b’} then number of elements in R1-R2 is 
equal to…… 

(85) If f(x)=(
x3          2x2+1      1+3x 
3x3+2      2x     x3+6
x3-x           4          x2-2   

)  𝑓𝑜𝑟 𝑎𝑙𝑙 𝑥 £𝑅 , then 2f(0)+𝑓1(0) is equal to… 

(a)18 

(b)24 

(c)48 

(d)42 



(86) If 3+i sinꝊ/4-i cosꝊ , Ꝋ £ [0 , 2π] is a real number , then an argument of sinꝊ+i cosꝊ is: 

(a ) π-𝑡𝑎𝑛−1(4/3) 

(b) π-𝑡𝑎𝑛−1(3/4) 

(c) -𝑡𝑎𝑛−1(3/4) 

(d) 𝑡𝑎𝑛−1(4/3) 

 

(87)The value of ꝏ , for which  
(

 
 

1      
  3

2
      Գ +

3

2

1      
1

3
      Գ +

1

3

2Գ + 3      3Գ + 1  0 
)

 
 
= 0 𝑙𝑖𝑛𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑛𝑎𝑙

 

 

(a) (-2 ,1) 

(b) (-3 , 0) 

(c)(-3/2 , 3/2) 

(d) (0 ,3) 

(88) If A,B and C are three sets such that A ∩ B=A∩C and A U B=A U C , then 

(a)A=C 

(b)B=C 

(C)A ∩ B= 

(d) A = B 

(89) If |𝑧2-1|= |𝑧2+1 , then z lies on  

(a) an ellipse 

(b) the imaginary axis 

(c) a circle 

(d) the real axis 

(90) if A is a symmetric matrix and B is a skew-symmetric matrix such that 

A+B= 
( 
2      3
5  − 1 

) , 𝑡ℎ𝑒𝑛 𝐴𝐵 𝑖𝑠 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜:
 

(a)(
−4     − 1
−1         4

 
 )  



(b) (
4    − 2

−1       − 4 )  

(c) (
4 − 2
1 − 4  

)  

(d) 
(
−4     2 

1        4 
)  

 

 

 

 

 

 

 

                                                

 

 

 

 

 

 

 

 

 

 

 

 

 

Type equation here. 

 

 

 

 

 

 



ANSWER KEY 

1) c 

2) a 

3) c 

4) b 

5) b 

6) d 

7) a

8) c 

9) c 

10) a 

11) b 

12) a 

13) c 

14) c 

15) c 

16) d 

17) a 

18) a 

19) b 

20) b 

21) 45km/hrs 

22) 5m/sec. 

23) 24m 

24) 2121m/sec.sq. 

25) 47m 

26) 44m 

27) 4m/sec.sq. 

28) 11m 

29) 18m 

30) 156m 

31) c 



32) a 

33) b 

34) b 

35) d 

36) b 

37) b 

38) c 

39) a 

40) d 

41) c 

42) d 

43) b 

44)  b 

45) a 

46) b 

47) b 

48) a 

49) b 

50) b 

51) 50 

52) 11x𝟏𝟎𝟐𝟑 

53) 8 

54) 18.18% 

55) 25x𝟏𝟎𝟑 

56) 4 

57) 0 

58) 7x𝟏𝟎−𝟓m 

59) 1x𝟏𝟎−𝟑𝟑m 

60) 798J 

61) 6 

62) 4 

63) a 



64) a 

65) b 

66) d 

67) 10 

68) c 

69) a 

70) b 

71) b 

72) d 

73) c 

74) a 

75) d 

76) c 

77) b 

78) b 

79) b 

80) a 

81) n=7 

82) a 

83) d 

84) 46 

85 )d 

86) a 

87) c 

88) b 

89) b 

90) b 

 

 

 


